mathrm a'N

mathrm d N / mathrm d meathrm d ET mat

hrm d lambda

=
N
o

Ratio to CMS

|—\
N
o

o
o

(0]
o

(©))]
o

N
o

N
o

p)

N

[EEY

0.5

groomed pTD2 (charged-only)

x1g000 GeV pp Z+Jet
= 1 T 1 T L R B B o B
- i -
—  Groomed (p?)2 A_0? (charged only) (CMS jet substructure) ——| =
B 1=
- m CMS 12
| —&— Pythia 8.308 default N
I ¢ Sherpa 2.2.9 default o E
N e
- _lo
=
— —x
B |z
- . 19
| 2 ¢ B
R ™
B R
- . —HZ
- ’ — .G,
— :' g.“‘ — S
B .. e
| : 15
— — 9
1 L2 )
- ! B 12
— )T @7 1 <
L T | o
:’_ﬁ'._;_-_h_-¢_-_’_-; - -y -l i | I‘ | l_ £
— —2
1

o —0.5
| " 1 " 1 " " | " 1 " 1 " 1 " 1 " |
0 0.5 1



	Contents
	Page 1


